Singhania International Limited
C-25, Phase-1, Focal Point, Ludhiana - 141010, Punjab
www.singhaniainternational.com | www.sturdfix.com

STOCK AVAILABILITY OF SPRING WASHERS/SPLIT LOCK WASHER (EN 42)- PRICE PER KG

Sr No. Item AS PER 1S-6735 (DIN 7980) - SQUARE SECTION
Code  Nominal Size (mm) Width (mm) Thickness (mm) AVL STOCKS
AVL KG
1 5105801 3.0 1.0 1.0 v 225
2 S105806 3.5 1.0 1.0
3 5105802 4.0 1.2 1.2 v 725
4 5105803 5.0 1.6 1.6 v 875
5 5105804 6.0 1.6 1.6 v 275
6 S105807 7.0 1.8 1.8
7 S105805 8.0 2.0 2.0
8 5105405 MO08- H&T GZP v 530
9 S105808 10.0 2.5 2.5
10 S105809 12.0 2.5 2.5
11 5105810 14.0 3.0 3.0
12 105811 16.0 3.5 3.5
13 S105812 18.0 3.5 3.5
14 S105813 20.0 4.5 4.5
15 5105814 22.0 4.5 4.5
16 5105815 24.0 5.0 5.0
17 5105816 27.0 5.0 5.0
18 5105817 30.0 6.0 6.0
19 S105817 33.0 6.0 6.0
20 S105819 36.0 7.0 7.0
21 5105820 39.0 7.0 7.0
22 5105821 42.0 8.0 8.0
23 5105822 45.0 8.0 8.0
24 S105823 48.0 8.0 8.0

30/08/21



Singhania International Limited

C-25, Phase-1, Focal Point, Ludhiana - 141010, Punjab
www.singhaniainternational.com | www.sturdfix.com

STOCK AVAILABILITY OF SPRING WASHERS/SPLIT LOCK WASHER (EN 42)-PRICE PER KG

Item AS PER 1S-3063 (DIN 127B) - FLAT SECTION
Code Nominal Size (mm) | Width (mm) Thickness (mm) AVL STOCKS AVL KG

1 | sio5701 3.0 1.3 0.8 V4 500
2 | sI05706 3.5 1.3 0.8

3 | sl05702 4.0 1.5 0.9 V4 1575
4 | s105703 5.0 1.8 1.2 V4 1225
5 | sl05705 6.0 2.5 1.6 V4 50
6 | S105707 7.0 2.5 1.6

7 8.0 3.0 2.0

8 | SI05708 10.0 3.5 2.2

9 | S105709 12.0 4.0 2.5

10 | SI05710 14.0 4.5 3.0

11 | sl05711 16.0 5.0 3.5

12 | sl05712 18.0 5.0 3.5

13 | sl05713 20.0 6.0 4.0

14 | sI05714 22.0 6.0 4.0

15 | S105715 24.0 7.0 5.0

16 | S105726 27.0 7.0 5.0 v 550
17 | S105727 30.0 8.0 6.0

18 | SI05728 33.0 10.0 6.0 v 150
19 | s105729 36.0 10.0 6.0

20 | SI05730 39.0 10.0 6.0 v 375
21 | s105731 42.0 12.0 7.0

22 | s105732 45.0 12.0 7.0 v 300
23 | s105733 48.0 12.0 7.0




STOCK AVAILABILITY OF SPRING WASHERS/SPLIT LOCK WASHER (EN 42)-PRICE PER KG

IN HOUSE PRODUCTION

1 |SPRING WASHER (FLAT) M12 MS DIN127 SELF 478
2 [SPRING WASHER (FLAT) M18 MS DIN127 SELF 400
3 [SPRING WASHER (FLAT) M20 MS DIN127 SELF 350
4 |SPRING WASHER (FLAT) M24 MS DIN127 SELF 100
5 [SPRING WASHER (FLAT) M27 DIN127 SELF 80
6 |SPRING WASHER (FLAT) M6 MS DIN127 SELF 69
7 |SPRING WASHER (FLAT) M12 DIN127 WZP 50
8 |SPRING WASHER (FLAT) M16 DIN127 WZP 860
9 [SPRING WASHER (FLAT) M12 $S-304 DIN 127 SELF SS304 378
10 |[SPRING WASHER (FLAT) M10 EN42 DIN 127 SELF HC71-75 NHT 1562
11 [SPRING WASHER (FLAT) M12 EN42 DIN 127 SELF HC71-75 NHT -3554
12 [SPRING WASHER (FLAT)M14 EN42 DIN127 SELF HC71-75 NHT 175
13 [SPRING WASHER (FLAT) M16 EN42 DIN 127 SELF HC71-75 NHT 1750
14 |SPRING WASHER (FLAT) M16 EN42 DIN127 SELF HC71-75 NHT 1520
15 |[SPRING WASHER (FLAT) M18 EN42 DIN 127 SELF HC71-75 NHT 155
16 |SPRING WASHER (FLAT) M20 EN42 DIN127 SELF HC71-75 NHT 1116
17 |SPRING WASHER (FLAT) 22 EN42 DIN127 SELF HC71-75 NHT 100
18 |[SPRING WASHER (FLAT) M24 EN42 DIN127 SELF HC71-75 NHT 2150
19 [SPRING WASHER (FLAT)M27 EN42 DIN127 BLACK HC71-75 YHT 159
20 |SPRING WASHER (FLAT) M27 EN42 DIN127 SELF HC71-75 NHT 40
21 |SPRING WASHER (FLAT) M30 EN42 DIN 127 SELF HC71-75 NHT 250
22 |SPRING WASHER (FLAT) M5 EN42 DIN127 SELF HC71-75 NHT 200
23 |SPRING WASHER (FLAT) M6 EN42 DIN127 BLACK HC71-75 NHT 1360
24 |SPRING WASHER (FLAT) M6 EN42 DIN127 BLACK HC71-75 YHT 20
25 |SPRING WASHER (FLAT) M6 EN42 DIN12 SELF HC71-75 NHT 622
26 |SPRING WASHER (FLAT) M8 EN42 DIN 127 SELF HC71-75 YHT

27 |SPRING WASHER (FLAT) M8 EN42 DIN127 SELF HC71-75 NHT 2855
28 [SPRING WASHER SS 24 MM 500




